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FL>APE{* BN sin?0 — 1 = —cos?6
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% (sin® ++/sin?6 — 1)2k + (sin® — \/sin26 — 1)2k» = (-1)kcos2k®
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% (sin® ++/sin?6 — 1)2k + (sin® — \/sin26 — 1)2k»

%{[i(cosﬂ — isin@)]%* + [—i(cos0 + isin@)]¥}

i2k
= 7{(cose — isin0)% + (cos0 + isin®)%k}
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=— {cos2k0O — isin2k® + cos2k0 + isin2k0} = (—1)*“cos2k0

£ 0=15 4 k=1010
#1110 2k0O = 30300° = 84 x 360" + 60°

%R = cos60° = %
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_a(t+3?)(t+5%) +b(t+1%)(t +5%) + c(t+1°)(t +3°)
(t+1%)(t+3*)(t +5%)
_(a+b+c)t? +[a(3 +5°) +b(@* +5%) +c(1® +3*)Jt + ax 3 x5° +bx1* x5* + cx1* x 3
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2+ (12 + 32+ 59)t° + (1° x3° +3° x5 + 52 x1°)t +1* x 3* x 5°
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2+ (1P + 37 +5)t% + (17 x 3 +3° x5 + 52 x1*)t +1° x 3* x 5
=(a+b+o)t* +[a(3 +5%) +b(1* +5%) +c(1” + 3]t + ax3* x5 + bx1*x5° + cx1* x 3°
AR I - 2 = AR

t* +[(1* +3* +5°) — (a+b +O)]t?
H(1* %3 +3* x5° +5* x1*) —a(3* +5°) —b(1* +5°) —c(1* + 3)]t
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